Math 200 - 2nd Final Exam Name keg
May 14, 2012 Score

Show all work to receive full credit. Supply explanations where necessary. Multiple choice
problems are worth 0, 1, or 2 points depending on your answer and the work shown.

1. Choose the subtraction model that best fits the following problem situation: Oscar
must earn a total of $35 for a field trip. He has already earned $17. How much more
must Oscar earn?

(a) missing factor WuaT pLus \7 1s 35 ¢
(b) comparison

(c) take away
missing addend

2. Which one of the following numbers is NOT prime?
(a) 17
(b) 41

OF

(d) 2

3. Based on his performance throughout the semester, Julio made the following conjec-
ture: If the sun is shining when I take an in-class quiz, I will fail the quiz. Which of
the following would provide Julio with a counterexample?

(a) A take-home quiz that he fails when the sun is shining.
(b) An in-class quiz that he fails when the sun is shining.
(c) An in-class quiz that he passes on a dark, rainy day.
An in-class quiz that he passes when the sun is shining.

4. If A and B are nonempty sets of numbers, describe an element of A x B.

(a) a number that is in both A and B
(b) a number that is in A or B
@ an ordered pair of numbers from A and B, respectively

(d) a number that is the product of a number in A and a number in B

5. Convert to a numeral in base ten: 4352,

4352

(c) 6024 : BoY + 168+ 30+ = [ooY
(d) 32052

1004 | Uxb o + 3%+ 5x6+ Q3



6. Choose the divison model that best fits the following problem situation: Martha is
rationing her 36 Hershey’s Kisses so that she can eat 4 each day. For how many days
can Martha eat her Kisses?

(a) set (partition) How maw Y Oroups
J < \

repeated subtraction

(c) missing factor

(d) take away

7. When using the 4-step, problem-solving process, which one of these strategies would
be considered part of looking back?

(a) Keep accurate record of your work. < CAQR:B OUT PLan
(b) Check each step. <— CM“Q% ouUT puaN
@ Consider other possible solution methods. «— {_cex Race

(d) Write an equation. g— Devisg PLAN

8. What type of reasoning are you using when you draw a conclusion based on observa-
tion?

(a) Recursive thinking

Inductive reasoning

(c) Circular reasoning

(d) Deductive reasoning

9. What is the name of the type of sequence shown here?

3,12,48,192, 768, . . .

Geometric sequence 3x4 =19

(b) Arithmetic sequence 19xx| = 4o

(c) Figurate sequence g x4 =199
(d) Random sequence N

10. Which one of the fractions below is not equivalent to 20/127

(c) 340/204 = 5/3 = 294

(@) 1820/1274 = 10/,



11. The GCD of 182 and 520 is 26. What is the LCM of 182 and 5207

(a) 26 . ) /B9 x 530 ) 3(0‘.{
(b)) 3640 cm = 26 o
394640

(d) 4160

12. Find the 915th term of the following arithmetic sequence:

1,5,9,13,17,21,25, . ..

(a) 3660

(b) 3661 N™ reem = Yy -3

() 3657 |

(d) 2915 , NE™ rgem = H(18)-23 = 3457

13. Which one of the following divisibility tests is incorrect?
(a) A whole number is divisible by 4 if the number formed by its last two digits is
divisible by 4.
A whole number is divisible by 12 if it is divisible by both 2 and 6.

(¢) A whole number is divisible by 8 if the number formed by its last three digits is
divisible by 8.

(d) A whole number is divisible by 9 if the sum of its digits is divisible by 9.

14. Suppose z is a negative integer and y is a positive integer.
What is the sign of —x — (—%)?

~—
positive

(b) __X_\.Ld = (—-)()-\"j = \DOS\T\VE -\—\303\'\"\\1&
- negative :

(c) zero

(d) more information is required

15. Choose the multiplcation model that best fits the following problem situation: Fred
gave 6 trading cards to each of his J best friends. How many cards did Fred give away?

(a) Cartesian product

repeated addition

(c) set (partition)

(d) missing factor



16. (5 points) Each of the following strategies is associated with one of the four steps of the
problem-solving process. Write the number of the step (1, 2, 3, or 4) that corresponds
to each strategy.

(a) Determine other more general problems for which the techiniques apply. L'{
(b) What information is missing or not needed? \
(c) Check each step as you proceed. 3

(d) State the problem in your own words. l

(e) Work backward. ___&_

(f) Identify a subgoal. —Q

(g) Look for a pattern. i

(h) What are ‘Fhe unknowns? _L

(i) Check your solution in the original wording of the problem. L\

(j) Examine special cases. 9\

17. (5 points) Of the following division problems, choose the one whose result is not defined.
Then carefully explain why it is not defined.

0+ 4, =, —=1,13+0

1
2 "7 2
L Diwvison RY Z 2o

|3 NOT DEFINED.

ACc.ow_u\Mj To THe M\SS.HJS FACTO®R mob?.\.)

[l /" AN
30 Aks Wyar Timer O & 2 ¢

Evmtj vomeee Times O 2 O SucH THwe g

No SueHd NuUMm®Aee,

. 1
4 3= 0O poEI NOT EX\IYT .



18. (5 points) Use a model to illustrate and compute each of the following.

3
5 3 . —J\/jw.:__
2 © — e - - s
(a) 5> ¢ 3 ( [l T Nive pueces Are
LT SYanep (DAQK)
/.._. Ave L owy \
AR.EA ole \& |p
—_— Pleceg
= 9 ,
Ao \S
SHADE,
(b) =5 x (—2)

TA\CS, Oy 5 SQOU\\;S

OF (& -5
STAQT WITH
ZEQO L&\‘:T" A AT XO '\"’S.
(c) 4—(-5)

- 5x(-3): * 1o

Nomasre Ling O Sranr ar 240 A tg RyguT  — - - _ —:’" - —
® Move Forwara L‘SPACES <—-\O-\-¥~\—L&‘{ R N B C\‘?
@ TURM AR ounD
Move RAaccwarD 5SPAQg& L\..(-5) = q

Enn AT T 9
19. (5 points) Find the prime factorizations of 1320 and 300. Then use the prime factor-
izations to find the greatest common divisor and least common multiple. (Be sure to

label which is which.)

390 200
/\ /\
0 bb 3o 10
FAN
ANA AT
45 6\l e 5
A A A
2 2 a3

2 3

e U —

.l 300=4d-3-5 (

/

;‘; /330 = §-3-5

‘‘‘‘‘

. 4CD- 9235+ Lo Lem = 2%3-571 \

N
AN

L eimel




20. (5 points) Use a NONSTANDARD algorithm to compute each of the following.

(a) 4758 = 6 T3 o
@) W78 '8 1793

SHO\z‘r
Dwigiop
(b) 423 — 267 43 L 36
8(:[ AL :\M?Q ‘Tions - 2 (9‘7 g ~379 5 - 300
[/56,
(c) 864 x 37 3 lo L\
T T A
LavTice }_ 3 y L g 3 { 3 B
L el a {/8E 7 —/
7 __ i ° 1
x\\ q é 8

. 2
21. (5 points) Clearly state the rule for adding two integers with opposite signs. Give an
example that illustrates your rule. Be absolutely certain that your example actually

shows what your rule says!

Su\sTQAcT THe\® ARSoLuTve VALUEY  LEAST From
REATE
8 TEST, T\Aw 8\\/& THAT ResulT  Tde 8\3'\1

OF Tde o
raxﬁw,qu. Acdewd WAT Y TWE 8QMT£ST'

ABSolute vaiue.

8-3.
L"\-("C(\: \<C\_\__‘>= __5

6



A EVeEN
22. (5 points) Use any algorithm to compute each of the following. B Se S

pd
’

(a) 536seven x 24geven 5 3
\ \ S o) 4
,/ L3 G
; O Og?éb l 5 (}Wi,o \("335\:&»1?3

(b) 2211three + 2121three + 1122100 + 201241 06
2 4
i 2/' gl X 0 \ '
' | 8 e R
A & 00 oae

23. (5 points) Clearly state each of the following divisibility tests.

(a) Test for divisibilty by 8
AN NTES% s B\V\&\\SLE'Bu B ¢ AND onLy & Tue \uT&am/s
LASTYT Turee ngx'rs Form AN \NTESQQ TwaT \% Divitiee

Ry B.

(b) Test for divisibility by 5

Ax \WWTeqwe 18 Divaitia By O IF 4wo oNy IF
T3 oweg DIgiT /S Divisi8ee /33 5 (, e. O on 5)

(c) Test for divisibility by 9

AN IMTES‘EQ_ \S D\Wis\gue By q \E AN Owhd \F THE

Sum oF T3 D\S\T's 2 Dwiitigee \33 ?



24. (5 points) For each part of the problem, sketch a three-set Venn diagram and shade
the region corresponding to the given operation.

(a) AnBNC

(b) (AUB)NC




